Week Beginning: 27.04.2020

Maths Problem of the Day
29.04.2020

Use your knowledge of what you have learnt in your maths lessons to have a go. You can answer these
on a scrap piece of paper or in your learning log. Once you have completed the problems, ask a grown
up to take a picture and email it fo me on emma.parr@kirkbyce.co.uk
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| The pictogram shows the number of 2 These pairs of nhumbers all have

children who walk to school each day. the same total.
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There are 20 children in the class.

How many children did not walk to

Work out the missing numbers.
school on Tuesday?
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Answers for 28.04.2020
Problems of the Day Lyl Q"o

| Here is how much it costs to go to 2 If

the zoo. A_l_ A -12

What is the value of @ 2 13

€5 x 3 =€I5 3 What are the missing numbers?
€l0 + €IS = £25

Mr Jones and his 3 children go to the y X Io = uo
Zoo.

How much does it cost them 70 - IO = 7
altogether? €25 altogether
Maths
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